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Updates to the 15th edition starting with the October 2022 Exam:

Due to the changes of Exam FM/2 syllabus starting with the October 2022
sitting, the ASM manual underwent major changes to Chapters 5, 8, 9, 11 and
the Practice Exams. Here is the list of major changes:

1.

Section 5e (Time-Weighted and Dollar-Weighted Rates) and Section 5f
(Portfolio and Investment Year Methods) were deleted.

. A new section on Inflation and Real Rate of Interest was added to Chapter

5.
Section 7d (Price Between Coupon Dates) was deleted.
Chapter 8 on Financial Instruments was deleted.

Chapter 9 on Determinants of Interest Rates was deleted. However, a part
of Section 9e on Inflation Rates was added to the new section in Chapter
5 on Inflation and Real Rate of Interest.

Section 11b on Interest Rate Swaps was deleted.

The practice exams at the end of the manual are no longer appropriate
since they don’t reflect the new syllabus. These exams were updated in
the 16th edition. Each new exam has now 30 questions and a 2 1/2 -hour
time limit.

Note that the 16th edition of the ASM Manual for Exam FM/2 has been revised
in accordance with the new SOA syllabus for exam FM/2 beginning with the
October 2022 exam. Also, the new edition incorporates corrections of all known
errata in the 14th € 15th editions.
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Section 1a, several a(t)’s should be A (t)’s. Replace the 5% and 6"
paragraphs by the following:

We will also define an amount function, A (t), as the AV at time ¢ of k
invested at time O (rather than 1 invested at time 0). Obviously, A (t) =
ka (t). Mathematically, we need only one of these two functions, but
having both can be handy. Given the definition of A (t), the effective rate
of interest can also be defined as:

A(t) — A(t — 1)
A(t—1)

1+ =

because substituting A (t) = ka(t) and A(t —1) = ka(t — 1), the k’s
cancel out and we’re right back to the original definition. Using this
version of the definition of i;, go ahead and solve for A (t). You should

get the following:
At)=A{t—-1)+ i At —1)

A(t) = (1+i)A(t —1).

Section 1la, in the solution to Example 1.1, change the second
sentence to: “Then A (t) = ka(t) = 4a(t) and a(t) = (1/4)A(t) =
(1/4) (442 +8t+4) =t>+2t + 1.7

jm) — (/o1

Section 1le, the second equation should be T/m

Section 3a, in the solution to Example 3.4, the reference should be
to Section 4h.

Section 3d, in the solution to Example 3.12, in the last para-
graph, change 19a|ﬁ to 19|aﬁ.

Sections 4h-4i, in Exercise 21, part I, change (Dém to (Dé')m.

Sections 4h-4i, in the solution to Exercise 24, on the first line,
change (Da)g to (Da)gg-

Section 4j, in the solution to Exercise 13, on the 3rd line, change
897.86 to 897.96 and on the 9'" line, change 1.059 to 1.05°.

Sections 5d-5e, in Exercise 5, on the first line, change “You are
giving” to “You are given”.

Sections 5d-5e, in the solution to Exercise 16, change “Deposit” to
“Interest Earned”.
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Section 6a, the solutions to past exam questions should be on a new
page.

Section 6a, in the solution to Exercise 23, on the 5th line, change
IQ to It.

Section 6b, in Note 1, change Example 1 to Example 6.7.

Section 6d, on the last line, change the first number 798.28 to 789.28.
Section 6d, in the solution to Exercise 3, on the first line, change
“Same as #9” to “Same as #5” and on the line before the last, change

Section 6e, in the solution to Exercise 16, the last sentence should
be replaced by “A little messing around will get it in the form of answer
choice D.”

Section 7b, in the Makeham calculation of Bond #1, on the third
line, change g = % tog= %

Section 7b, in Exercise 23, on the second line, a period after 372.05
is missing.

Section 7d, “price between coupon payment dates” is no longer on the
syllabus.

Section 7d, last paragraph, third line, change “priced” to “price”.
Section 7d, part 1 deleted
Section 7d, Exercises 3, 5, 6, 8, 10, and 11 are no longer on the syllabus.

Section 7f, in the solution to Exercise 6, on the 3rd line, change
g = .0234 to g = .02315.

Section 9g, in Example 9.25 part (A), change “that” to “than”.

Section 10a, in Example 10.4, change the reference from Example 3
to Example 10.3.

Sections 10a-10f, in Example 10.13, change the reference to Example
10.7.

Sections 10a-10f, Exercise 9. The method of equated time is no longer
on the syllabus.

Section 10h, in the solution to Example 10.21, on the last line,
change the equation to Lt2vtA, > St?vtL,.

Section 11a, the first table should be moved to Example 11.4 after the
second paragraph.
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Section 11a, in the solution to Example 11.10, on the first line,
the reference is to Example 11.9.

Section 11a, in the solution to Exercise 6, change the last fraction
50/125 to 150/125.

Section 11b. The table at the top of the page should be under the first
line of exercise 9.

Practice Exam 1, in Exercise 33, on the first line. Change FMOC
to FOMC.

Practice Exam 3, replace Exercise 28 with the exercise below be-
cause the price between coupon payment dates is no longer on the syllabus.
The replacement question is:

Question #28: An investor would like to purchase a 15,000 bond but he
only has 11,000. To do so, the investor takes out a 5-year loan of 4,000 from
a bank and will make interest-only payments at the end of each quarter at
a nominal annual interest rate of 6% convertible quarterly. The investor
immediately pays 15,000 and buys a 5-year bond with a par value of 15,000
and 8% coupons paid quarterly.

As the investor receives each coupon payment, he immediately makes the
interest payment on the loan and reinvests the money left in an account
earning an annual effective interest rate of i.

Calculate 7 if the investor realized an annual effective yield rate of 8.7%
on his 11,000 investment over the 5-year period.

(A) 5.18% (B) 5.72% (C) 6.35% (D) 6.91% (E) 7.22%

Solution:

At the end of each quarter, the investor receives coupon payments of
15,000(.08/4) = 300 and makes an interest payment of 4,000(.06/4) = 60
on the loan. His net income is 240 at the end of each quarter which
accumulates to 2403ﬂj7 where j is the quarterly interest rate. At the
end of 5 years and in addition to the 240, the investor receives 15,000 for
the bond and pays off the loan of 4,000. The equation of value at time
5 is: 11,000(1.087)5 = 240s55; + 11,000 which implies Sq; = 23.7218.
Using the financial calculator, j = .017586 that gives i = 1.0175864 — 1 =
0.0722 = 7.22%. ANS. (E)

Practice Exam 5, in the solution to Exercise 12.

A negative sign is missing in the second formula of S’. Change it to
S’ = (—20,000)(.729) 4+ (18,010)(.81) = —14,580 + 14, 588.10 = 8.10.
Practice Exam 4, in the solution to Exercise 23.

The answer 1,124.79 should be highlighted instead of 1,118.39.



Page 551 Practice Exam 5, in the solution to Exercise 4.

First paragraph last line, change Example 2 to Example 10.24.

Page 562 Practice Exam 6. The table at the top of the page should be under the
first line of Exercise 21.



